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Parer 11

(EpucaTiON)

1. Whichone of the following should be considered
as the first step of applying mixed method research?

(A) Formulation of objectives.

(B) Decision about two distinct research
methods.

(C) Selection of qualitative and quantitative
data collection techniques.

(D) Determination of the feasibility of applying
mixed methods research.

2. The essence of social stratification is
(A) Social Adjustment
(B) Social Disintegration
(C) Social Cohesion
(D) Social Inequality

3. Jean Piaget used the term ‘Schemata’ to refer to
the cognitive structures underlying organized patterns
of

(A) Concept

(B) Behaviour
(C) Experience
(D) Temperament

4. Which of the following is true?

(A) PERT— employs one time and one cost
estimate.

(B) CPM— employs one cost and two time
estimates.

(C) PERT—employs three time estimates and
no cost estimate.

(D) CPM— employs two cost estimates and
no time estimate.

1. W sgfore si@@e 99 77 e @ @b
2T 2MCFA Tl TP 1 Bow ?

(A) Taly 519 |

(B) b Feg oitagelt “iafs 79w Prare |

(C) @o9e @R ARV O AT FHETR
e |

(D) Tl simfoTs sicawen e TeRre! e |

2. ANIEE BARER A 25
(A) AR AERAE
(B) A= [erem
(C) e spreife
(D) Iife sPikafe at (s

3. @fas S[Ed 2P o HRie aeEe Afrert
‘Schemata’ ([ W@ﬁﬁ@ﬂ‘iﬂ% S[iGIcTa <ol 2

(A) «=el

(B) wIibael

(C) wfoess]
(D) FoR/GTele

4. FEfERS @A T ?
(A) PERT— &% F3[¥ QR G AT STl |
(B) CPM— ¢ 3531 G K6 S SIefalle |
(C) PERT— &= Aw @) a2 Sremie |
(D) CPM— %5 QP oIT G AR SIegalle] |

[ Please Turn Over |



11-11
5. A researcher remains curious to learn people’s
views, hear their stories and discover their feelings in
(A) Phenomenological research
(B) Grounded theory research
(C) Ethnographical research
(D) Narrative research

6. Match the items of List-I and List-II and write
the correct code:

List-1 List-I1
1. Sattva (a) Retardation
2. Rajas (b) Manifestation
3. Tamas (c) Activity
Codes:
1. 2. 3.

A ®d @ (©
B) @ (© (b
<© b © @
D) (b)) (b)) (@

7. Who advocated the idea of critical pedagogy?
(A) John Dewey
(B) Paulo Freire
(C) R.H. Dave
(D) Savitribai Phule

8. Which of the following in pair characterises the
classroom instruction in Blended Learning
environment?

(i) Teacher-led
(i1) One-size-fits-all
(iii) Teacher-directed
(iv) Individualized-pacing
Select the code:
(A) (1), (Gv)
(B) (ib), (iii)
(©) (v), (i)
D) @, (i)

5. QG SN(ITS I GF OIS YATS, S0 93
IR S O TR A0S (FI92eT 2l ST, O (A6
SR ECECER I

(A) TOAIETP STCel
(B) fofere sicazell
(C) Toifge sl
(D) Resersge siaell

6. 5 €2 3 THF Wit AvelEe i@ Je
N %’% g

©IfeTl-5 ©IfeTR-3
1. 9 (a) ofoameel
2. TG (b) o=l
3. o (c) %
(FIT ¢
1. 2. 3.

@ b @ (©
B) @ (© (b
<€ ® (© (@
D) (b)) (b)) (@

7. Gioe RN 41799 29es & 2
(A) o= fSfH
(B) et &0
(C) =IF. G3p. Tt
(D) ARG e

8. S foe #ifdcae fsfeiie @ goe &gy
i Ferinie esfe ?

() MrFs-cTog
(i) FFCER T G ife
(iii) Pres-fae
(iv) IfeReiEs ozl
(PTG 75757 T4 &
(A) (@), (iv)
(B) (i), (iii)
(©) (i), (ii)
D) (), (i)




9. Which of the following point is consistent with
the social model of disability?

(A) Impairments or differences should be fixed
orchanged by medical or other treatments.

(B) Disability is caused by the way society is
organised, not by a person’s impairment.
We need to remove barriers to enable
independence and equality.

(C) Society must focus on what is wrong with
the person and how they can adapt.

(D) Itis possible to cater for all requirements
and disadvantage is inevitable.

10. The disciplinary aspects are learnt by a child
through

(A) written curriculum
(B) covert curriculum
(C) null curriculum

(D) societal curriculum

11. Statistics can be used to analyse data collected
on the following variables:

(A) Dependent variables
(B) Extraneous variables
(C) Treatment variables
(D) Classifying variables

12. Whosaid that “The oppressed majorities should
avail opportunities for education and development”?

(A) P. Freire

(B) R. Tagore
(C) J. P. Narayan
(D) N. Noddings

13. Which of the following is not a part in the
Gallowys’ system of interaction analysis?

(A) Teacher talk
(B) Student talk
(C) Teacher-student interaction

(D) Silence or confusion

X-5 11-11

fa o I

9. rifers afeamel Treelbg T fsfe @b
rsIEy7lef 2
(A) @5 31 2N, Dz 7=t a sy 9Ek
7 FE A oA 7w S|

(B) fsamaela iae Tie 7910w Sotieara =l
fdifers, arfea @G =@ 771 TETe @3z
FTOIR ST T e TS S
7 I e |

(C) Ifea 7= g& weefis Mg Fa @3k
SN SR NG FAE—B FI AN
Ty oize zex ae |

(D) TSR] FIE SPIRI M7 SR ARG T 7f7el
A <= |

10. SEPIPTRER M e eied
(A) RS “oreea T
(B) (SN« 2O T
(C) =& (null) 2NIFGCa T
(D) AIEF 2GR T

11. s @m v fofere mro2ie s R
AR 9T = e

(A) S8 5o

(B) Jf2Fo® HeTm

(C) =T (Treatment) HeTe
(D) o= Hore

12. “The oppressed majorities should avail
opportunities for education and development” — IG5
2

A) #. @@

(B) =i (Geald
(C) ¢o. 1. el
(D) @ 7]

13. fosferie @@l MafEaes [ReiEe
SR (Gallowys’) TIZIF S 71 2

(A) T

(B) RISt S

(C) Torras-farmidl fafat
(D) Taaet at [Kaife
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14. Gardner’s Theory of Multiple Intelligence
believes the following:

(A) Intelligences are not limited to eight in
number.

(B) General intelligence is one of the eight
intelligences.

(C) Eight intelligences are primary mental
abilities.

(D) Out of eight intelligences several are
talents.

15. ‘The Key Informant’ in the Key Informant
Interviewing Technique is

(A) arepresentative of the majority.

(B) a source of information as per the
researcher’s desire.

(C) a substitute of the researcher.

(D) a well informed individual who is
approachable.

16. Efficiency of any research tool in the discipline
of education is primarily dependent upon

(A) reliability and usability
(B) usability and objectivity
(C) validity and usability
(D) objectivity and reliability

17. The forces that affect the development of
curriculum are called

(A) Foundation of Curriculum
(B) Curriculum Design
(C) Curriculum Evaluation

(D) Elements of Curriculum

18. Accessing of educational institutions to
education of comparable quality is recommended by

(A) National Policy on Education 1986
(B) National Policy on Education 1968

(C) Revised National Policy on Education
1992

(D) Programme of Action 1992

X-6

14. SCEAIET 72 BAMIGE Ifad O e @t
LT FH 2

(A) e =6 w271 e e 77|

(B) aizel Ifem w6 I Sy @ |

(C) =BG I 2e1 AR ATPRE FIoPHz |
(D) =50 Ifad ey fEice 2e1 effoe |

15. Key Informant Interviewing Technique-9
‘Key Informant’ 21

(A) e e
(B) oI TR ST T |
(C) olmaa s |

(D) 2&%T (approachable) f& w2 =i
I |

16. FHRSEE @ @ @I AN FR-PES

(Efficiency) #i2fiei@ @he So7 frea w2
(A) FEarisirel @3k Izl
(B) IO @R (A feFo!
(C) TSl @3 IR
(D) FHfewel @3k fSacisre!

17. ANTTER T doRRETRA WG 1 =
(A) “NEeE fefe
(B) NG Cara el
(C) AIFER FenIa
(D) NTEFER TAMI

18. PR ge iR AfRaErs Mmoo Ao
A 4 2R

(A) 1986 AT Srola i
(B) 1968 A= Tror =
(C) 1992 AwTR Feeifare Feraifers
(D) 1992 A POA-S I

~

1\SIAY)

2Y

Y

~

1\SIAY)

2|



19. Individuals with Down Syndrome often have
moderate to severe intellectual impairment with a
measurable 1Q usually between

(A) 45-50
(B) 55-60
(C) 35-55
(D) 25-35

20. According to NCF 2005, errors are important

(A) for classifying students into groups of
‘passed’ and ‘failed’.

(B) for providing a way to the teachers to
punish children.

(C) for providing an insight into the child’s
thinking and help to identify solutions.

(D) forremoving some children from the class.

21. NEP 2020 recommends the following colleges
to primarily focus on undergraduate teaching:

(A) Government colleges
(B) Autonomous colleges
(C) Colleges to affiliated Universities

(D) Constituent colleges of Universities

22. Whichofthefollowingisa behavioral dimension
of managerial grid?

(A) Concern for people

(B) Concern for organisation
(C) Concern for Government
(D) Concern for Finance

23. The National Curriculum Framework for
Teacher Education (NCFTE) 2009, is titled as

(A) Empowering Teacher Educators

(B) Competency Based and Commitment
Oriented Teachers

(C) Teacher Support

(D) Towards Preparing Professional and
Humane Teacher

11-11
19. #IfIfS® (moderate) (2TF ¥FSF (severe) (A
Afsrmroye it Prgs fexsfvm Imz sIfaws
@l =
(A) 45 - 50-99 &
(B) 55 — 60-4 X
(C) 35— 55-99 W4
(D) 25 - 35-49 &

20. NCF 2005 SIS, @6 (errors) 2o1 wawgsiel

(A) ‘AP @3k ‘et o v Memdioe cefasacea
ey |

(B) fArwta =ifemicTa Swmey M «Fh
TR AV G |

(C) TPl A fefa @3 fied o orevfs
FRNES &) |

(D) e (A g R SI9PReR o |

21. NEP 2020-(S ®e3-7F (undergraduate) 5=
ceg fsfeie @i simiemefa Som G giove
AR AR 1 2R ?

(A) TR e
(B) TP SRIRMiler

(C) Tifwrer Sejcie FeeTer

(D) fefewnsieas AR9f5®  (Constituent)
P RARLGIEE

fay

22. =R @ #f75IETe 18@ (managerial grid)-a3
G il 2
(A) If& 98T
(B) RSO ATRIT
(C) “RIF AT
(D) =< s

23. s R @S ofTE FAG (NCFTE)
2009-93 PCAIIN 251

(A) v Rewifmora Fore

(B) wwelfefer qat afcufofofes Mims
(C) o s

(D) oM, s e aefs
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24. Match the following in List-I with List-II and
select the appropriate code:

List-1 List-11
(a) Freud (i) Directive counselling
(b) Williamson (i1) Free association
(c¢) Rogers (iii) Free wheeling
(d) Thorne (iv) Non-directive
counselling
(v) Eclectic counselling
Codes:
@ B © @
A) @O () Gv) (W)
B) ) @ () (1)
© a @O G W)
D) Gi) @G GO (W)

25. Who gave the concept of ‘Zone of Proximal
Development’?

(A) B.F. Skinner
(B) Jean Piaget
(C) David Ausubel
(D) Lev Vygotsky

26. Which of the following is not correct about
portfolio assessment?

(A) Portfolio assessment is an alternative
assessment tool.

(B) Portfolio assessment contains work of
students.

(C) Portfolio assessment indicates learning of
students over time.

(D) Portfolio assessment contains answer sheet
of students.

27. The Right of Children to Free and Compulsory
Education (RTE) Act, 2009 is to fulfill the legal
obligation of Indian Constitution under .

(A) Article 16
(B) Article 45
(C) Article 21-A
(D) Article 21

X-8

24. 3 T OIfeF AN > W SifeeR fiF 4o s
et e e ¢
ORI O3
(a) TAT (i) MR e
(b) TR (i) & DT
(c) @l (i) f&F 23fere
(d) 4 (iv) SO
AR
(v) A A
T ¢
@ G @© (@@
A) @O Gi)  Gv) (V)
B) G @O w (v
© G @O (v W
(D) i) G @ (V)
25. ‘Zone of Proximal Development’ -4[F41d 265
&2
A) R. aw. &=
(B) ©iyl f=Hice
(C) (SfeT SPEs
(D) T ©iZalG

26. IS LR (Portfolio Assessment)-43 (G
fsfafs @l Afos e

(A) ISR L 2o {0 K8 Tzl ! |

(B) IR FETRER A Ml Fie J&
qCF |

(C) = e A Fwdios Feees @S
T RS R |

(D) TSR FEURER A Mrwidiom Teasia
IE AT |

27. Y& € IGORET FFR MemE SR oz
(RTE, Act) 2009-4 SISor AR @I 41019 54y faca
2] AN]SR FA TN 2RE ?

(A) 167 @
(B) 45 4
(C) 21-A = 471
(D) 21 7 &




28. Which of the following is related to learning
from the behavioural perspective?

(A) Reconstruction of meaning
(B) Construction of knowledge
(C) Positive reinforcement

(D) Aspiration level

29. Inordertoexamine the significance of difference
between any two small samples means, a researcher
follows

(A) F —Distribution Table
(B) t—Distribution Table
(C) CR-Distribution Table
(D) Z-Distribution Table

30. In a progressive classroom set up, the teacher
facilitates learning by providing an environment that

(A) promotes discovery
(B) is restrictive

(C) discourages inclusion
(D) encourages repetition

31. PERTisamanagementtechniquerelating to the
following:

(A) Attainment of objectives within the time
fixed.

(B) Doing the things right within the cost
fixed.

(C) Carrying out programmes within the
framework of objectives.

(D) Developing policies as per the availability
of cost and time.

32. If the length of a 20-item Science Achievement
Test increases to 60, the reliability coefficient of the
new test will

(A) Remain constant

(B) Increase two-fold

(C) Be greater

(D) Increase proportionately

11-11

28. AT et U (A WEERS @b
R AT TS 2
(A) 4R swofom
(B) Itei fevsfiel
(C) 3feass #If& (Positive reinforcement)
(D) SNpless ¥

29. (@ @I U0 (R T WETR 91089 e 2N
g o Fa00 2 oIS Wk @b ST
FACET 2

(A) F— et sige
(B) t— fei>t =@
(C) CR- =™ A=
(D) Z- et sge

30. @35 Zofedis fees oo Mg AR
e @ AR AR FEw @b ==

(A) TR (discovery) &b
(B) T
(C) TS fe farefze w1

(D) “agfer Tefze w1

31. PERT 2& 30 ARGRERE &GHel I AL
fsferfie @Rt g e

(A) it AR e Sy wTe |

(B) Fdifae sy Wy o Fiw 1|

(C) Trmeera ot sty Fefp iz w41 |
(D) 5T @ RS AZGETS S| S 1 iz |

32. 3 20f6 WG ez sArmier sewg v
i I 60 91 2, OIRCE (12 T oI SR
Q= (Coefficient)

(A) G A

(B) Tawd I Iita
(C) @M=

(D) SR I A
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33. Who insisted ‘accumulated wisdom’ for
teachers?
(A) Howard Gardner
(B) Deng & Luke
(C) T.S. Schulman
(D) M. Haberman

34. The transmission of receiver’s reaction back to
the sender is known as

(A) Noise
(B) Feedback
(C) Medium
(D) Source

35. The Quality Council of India was founded in the
year

(A) 1997
(B) 1998
(C) 1999
(D) 2000

36. Which of the following is a most important
factor for the quality improvement of teacher education?

(A) Infrastructure facilities
(B) Competency of teacher educators
(C) Attitude of trainees

(D) Teacher education curriculum

37. The term ‘social learning’ was introduced by
(A) Gestalt Psychologists
(B) Functionalists
(C) Behaviourists
(D) Psychoanalysts

X-10
33. fso@ e ‘accumulated wisdom’— 3206 &
% S0 2
(A) QTG NS
(B) (@8 ¢ o1
(C) 5. @3, Fersie
(D) €. TR

34. (2 @6 93re afefawl R Aemia A=
(transmission) ¥ T #IfFfo© ?

(A) (le12s1 (Noise)
(B) efefeal (Feedback)
(C) W4gis (Medium)
(D) &7 (Source)

35. Quality Council of India (I (s afofore 232
(A) 1997
(B) 1998
(C) 1999
(D) 2000

o =

S (PO

36. fFe MErg wdere Sae
(AT wePgalel TAm 2

(A) e Jf
(B) T frmifawor vl
(C) MrwmRetE e
(D) & eI stiores

el PG|

37. iR 124 Al “social learning” QNG 151
I

(A) (9PGFS SRSt

(B) ¥z (Functionalists)

(C) wBReaIAs (Behaviourists)

(D) TeAFeAele (Psychoanalysts)




38. According to Allport, traits could be organised
into which three levels?

(A) Primary, Secondary, Tertiary

(B) Cognitive, Emotional, Physiological
(C) Id, Ego, Super ego

(D) Cardinal, Central, Secondary

39. Inagiven sample of 64 tenth graders, the Mean
and SD are 19 and 3. What is the standard error of the
Mean?

(A) 357
(B) 0-38
() 375
(D) 047

40. The word family has been taken from the word
‘familia’ which is a
(A) Greek word
(B) Roman word
(C) Latin word
(D) None of the above

41. Which of the following is not a part of presage
criteria of teacher evaluation?

(A) Experience of teacher

(B) Training of teacher

(C) Personal attributes of teacher
(D) Style of teaching of teacher

42. Which of the following is the most appropriate
for a Ph. D. level work in Education following a
qualitative approach?

(A) Footnotes and References
(B) Bibliography and Endnotes
(C) Endnotes and References
(D) Footnotes and Endnotes

X-11
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38. SR SCo, AT (@ foafs Beaa w1
RIS 2T A ?
(A) A, MR, TOR AI79S B
(B) @fass, dicsifes, iifss
(C) 2m, Zrall, 3= 2l
(D) G, @@, M

39. w3 (=09 64 T TN ST € TANF Hife T
TAEE 19 9k 3| fFfle @b stwa s @0
(standard error of the Mean) ?

(A) 357
(B) 0-38
(©) 375
(D) 047

40. ‘Family’ *f5 ‘familia’ *¥1 (S @S 2R |
@b @zfo

(A) fa= =

(B) I =%

(C) =i ==

(D) TR @R

41. TR A 5 e presage criteria Al
T ST B 7 2

(A) TR Sifoessl
(B) Mmwrcra e
(C) Trwa Tfesre @l
(D) formra fras Ceiatt

42. wasre viReE e Mfeie stadnee
(Ph. D.) I %77 &=y Fsferiie @i eecs Soige 2

(A) MBI @R 2375 (Reference)
(B) 2gife «3 2eGRA

(C) ASHIF @R 275

(D) MBI @38 2AEHIF!
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43. Which of the following contributes subjective
reality in Samkhya Philosophy?
(A) Purusa
(B) Prakriti
(C) Purusa & Prakriti
(D) None of the above

44. The Eklavya Model Residential Schools are to
impart educations

(i) to enable ST students to avail of
opportunities in high and professional
education and courses.

(i) to focus not only on academic
education but also on the all round
development of ST students.

(iii) to educate Scheduled Tribe (ST)
students in remote areas.

(iv) to cater to ST students education
from class VI to XII.
Code:

(A) (i) & (i1) are correct

(B) (i), (iii) & (iv) are correct

(C) (i), (ii1) & (iv) are correct
(D) (1), (i1), (ii1) & (iv) are correct

45. Effectiveness of curriculum is determined by
(A) Objective
(B) Design
(C) Method
(D) Evaluation

46. As per NEP-2020, ABC will digitally store

(A) the academic credentials obtained from
any educational institutions.

(B) the academic credits earned from
recognised HEISs.

(C) the academic credits obtained from any
educational institutions.

(D) the academic credentials earned from
recognised HEISs.
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43. k2 W fEwere Aoy FEfhfie @b
SR
(A) 7=
(B) egfe
(©) 73 o 2Ffe
(D) SR @D 7@

44, 9T RAE M@ Fo1 F 4= #H 27l
IE?

(i) Coeifoge REFE Fe, CoMiRpTe

Tl @R (IR ool atzeel e 23 |

(ii) wyElg MEF-ars 97, Sowiioge
it e [Reiem s 7f3
T =l = |

(i) orESE S wIfoge M Tiom
ifre a1 27|

(iv) T @ awe @it o158 Sowifoge
i el v 9 27 |

(1o
(A) (i) 9% (ii) =1 A=
B) (i), (iii) 9=® (iv) =1 AP
(C) (ib), (iii) 9% (iv) Z&T AF
(D) (i), (ii), (iii) 9% (iv) Z&T AF

45. NGFER T Fdifae =@
(A) Sy ==l
(B) =419 =i
(OREEICERIEN
(D) e Al

46. NEP-2020 5@, ABC fsferfs @i fefernifs
LT A ?
(A) @ @I o 2fewe (A 2l aifoifas
M#lq (academic credentials) |

(B) SFite Tw = afewm (A wiftre

SIBICGTNE (O |

(C) @ @I Pl 2AfTD (A0 o SIFIrefiT
(GfTT |

(D) Srs Tn 4w afedim (A wifere
AT *1t1q |




47. Whichof the following is proposed by Deng and
Luke as ‘knowledge base’ for teachers?

(A) Disciplinary and practical conception of
knowledge.

(B) Practical and experiential conception of
knowledge.

(C) Disciplinary and experimental conceptions
of knowledge.

(D) Disciplinary, practical and experimental
conceptions of knowledge.

48. ‘A child is average in achievement, high in
intelligence and low in scientific aptitude’. This is an
example of

(A) Inter individual difference

(B) Intra individual difference

(C) Inter cognitive individual difference
(D) Multiple individual difference

49. One of the educational implications of realism
for the teachers is to keep in mind the following:

(A) Organisation of the content
(B) The method of teaching

(C) The nature of the learner

(D) The significance of the content

50. Whichtype of assessments are conducted during
the teaching-learning process?

(A) Placement and diagnostic
(B) Formative and diagnostic
(C) Formative and summative

(D) Placement and formative

51. In Indian Philosophical context, ‘Smriti’ is
termed as

(A) Representative Cognition
(B) Valid Knowledge

(C) Anubhaba

(D) Vikalpa
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47. M9 & ‘knowledge base’ T FHfeIRS
@D (T8 @R TTEF 2T FEw 2
(A) SR AP @3] PRI 4=l |
(B) wWitx  A7Rglfes @3z 2AFFIEAS
(experiential) €Il |
(C) TG SIIPT @32 ASTRETS A1l |
(D) IR SHIPH, WRREE @R 2w
e |

48. <% e sirmisern Fefe Wiew, If@a s
(AT TS N G3R (TR 27917 1 (A forsieea—
«ft afiie @wha Trizad 2

(A) BsT&sre 2N

(B) TV If&are el

(C) SgF@E Ifeame 214wy
(D) G3ifes wfeere Ay

49. ERIRS @i FEata A e @ FFema o
ARBIATR RFIers ieoR Wefiad w1 272

(A) s ARt
(B) =l smfs
(©) frwidlT agfs
(D) R ey

50. TRpel-feee e fferfee @iq aees ErRe
ARG 1 272

(A) 7KZH (Placement) 3% TII9MPG SET
(B) 9o IR €3 TIN5 S
(C) ST CIR T IR

(D) FZ R ANITES JEIA

51. ORISR WA Ao g’ Aol 2
(A) @fsffd @i (Representative Cognition)
(B) G4 &I« (Valid Knowledge)
(C) St
(D) "=m
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52. A variable thatis difficult to observe, define and
control in educational research is
(A) an independent variable
(B) a confounding variable
(C) an intervening variable

(D) an extraneous variable

53. Which of the following is an introspective level
of teaching?

(A) Memory Level

(B) Understanding Level
(C) Reflective Level
(D) Critical Level

54. Match the following items of List-1 with List-II:

List-1 List-11
1. Soul (a) Dharma
2. Matter (b) Adharma
3. Principle of motion (c) Pudgala
4. Principle of rest (d) Jiba
(e) Space
Codes:

A @ © @ O
B) @ @ ® (©
© @ @© O ©
D @ (@ @ @O

55. Validknowledgein Indian Philosophical Context
is related to

(A) Subject (Pramata)

(B) Object (Prameya)

(C) Source of Knowledge (Pramana)
(D) All of the above
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52. PIFPRERE AIRAER ([ BoT0 A€, A 2l
@z forgel T2 S, 1 2

(A) T8 555 (independent variable)
(B) fuf*rs vavsr (confounding variable)
(C) N4% BeT< (intervening variable)
(D) 37 a1 (extraneous variable)

53. fsferfas @b MeveR seveaers Ba?
(A) feq &
(B) @RI ©F
(C) efswlere B
(D) @feToR T

54. 3 7 OETHR AL > 7R OIETHT A e

©Ifer-5 OIfer-2
1. =it (a) &
2. IF (b) =1l
3. sifexieTerd Fife (O CRGE
4. e St (d) &=
(e) 2N

A @ © @ O
B) @ @ @b (©
© @ @© ® ©
O @ @ @ O

55. SIFeT WEa (2FIG (31 @i e @Wha
AN TS 2
(A) T (gatret)
(B) 3% (2Cm)
(C) I B (20e)
(D) Ttad R0



56. Research is a systematic process, but not
(A) A sequential process
(B) A iterative process
(C) A continuous process

(D) A hierarchical process

57. Theprocess of generating policy options includes

(i) systemic mode
(i1) incremental mode
(iii) Ad hoc mode
(iv) importation mode

(A) (i) & (ii) are correct but (iii) & (iv) are
incorrect.

(B) (ii), (ii1) & (iv) are correct but (i) is incorrect.

(C) (ii1) & (iv) are correct but (i) & (ii) are
incorrect.

(D) (1), (i1), (ii1) & (iv) are correct.

58. “The Individuals with Disabilities Education
Actprovides a free and appropriate public education to
all children with disability’. Whatelse is provided to all
students under it?

(A) Preferential classroom assignment
(B) Transportation to the school of their choice

(C) Instruction in the least restrictive
environment

(D) A paraprofessional aid to assist with
instruction

59. In Yoga Philosophy, Swadhyaya means
(A) Study Religious Scriptures
(B) Remembering God
(C) Understood as Contentment

(D) Power of Tolerance
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56. SITE 25 @S femerae dfe, e e
@I 2

(A) S e

(B) “argferse afe

(C) T=fvzs e

(D) i e

57. TeoiMad fS (Generating policy) af@ai
@l Seve ?

() e eet
(i) T it
(iii) =TC =& ol
(iv) =T (Importation) 2ot

(A) (i) €3 (i) AT fFE (iii) 93R (iv) AfGF 77
(B) (ib), (iii) €% (iv) A5 € (i) AGF 77
(C) (iii) €3k (iv) 7= 5% (i) 9% (ii) 7<=
D) @), (i), (iii) 9% (iv) 7P

58. Individuals with Disabilities Education-Act-4
S TR ST, T SRR T FA J6T
2R | 9T B F TS I T 2R ?

(A) ST (e e

(B) OItvA LG s fwpes ifs<zet 9792
(C) =J=renl Fifire Iffcaesa ey Motawie

(D) o A THNEHER TS 29

59. Clot wfTe, T =i 25
(A) 4(9g SR
CIECERIEC
(C) o el
(D) FEHeTela *Ife
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60. Conclusions of astudy undertaken in the field of
education immediately follows:
(A) Major findings of the study
(B) Discussion of results
(C) Suggestions for future research

(D) Educational implications

61. Which one of the following is an innovation in
teacher education?

(A) Constructivist approach
(B) Behaviourist approach
(C) Peer teaching

(D) Demonstration

62. From the viewpoint of constructivist approach
to learning, the child is viewed as

(A) Passive learner
(B) Problem solver
(C) Tabula Rasa

(D) Teacher-dependant

63. Whatistobe considered while evaluating policy
options?

(A) Desirability
(B) Affordability
(C) Feasibility

(D) All of the above

64. Which curriculum model focuses on decision
making?

(A) Tyler’s Model

(B) Stake’s Model

(C) Stufflebeam’s CIPP Model
(D) Seriven’s Model
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60. HEFICFE SYET TR R
SR 2

(A) G 2@ ST e
(major findings)

(B) FeTIRPCTS OIS

(C) SRRy SIageNg ool 2=l

(D) e FIesel

=

S (IO

61. TR (D M MR Toares s ?
(A) S1oTET giEefn
(B) SIBRTE MHo
(C) Tsrceifel fepwef
(D) 2w*fq

62. TR stoaint gl (A e fefaie
@i wifewcen sfcafwce [Koa w1 qrwe

(A) Figw frmid
(B) TP SIS
(C) Tiget el

(D) T fsa

63. s TS ErRER TR FEe @t [
FA 2

(A) wIsIeF (Desirability)
(B) A< (Affordability)
(C) =Tt (Feasibility)
(D) Toltza A2

64. AITEEE (el AT

FEFACIT T YRS
A2

(A) TIZ#R Iewa
(B) GFORF Wwe
(C) BRI CIPP S(Te

(D) FIfRCeEE es
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65. The process of adapting practices cultural item
from another culture is known as

(A) Acculturation
(B) Socialization

(C) Modernization
(D) Sanskritization

66. Match the items of List-I (theories of
intelligence) with the items of List-II (propounders)
and select the appropriate code:

List-1 List-I1

(i) R. Cattel

(i) C. Spearman

(a) Two-factor theory

(b) Primary Mental
Abilities

(c) Structure of
Intellect

(d) Fluid and Crystallized (iv) J. P. Guilford
intelligence

(ii1) L. L. Thurstone

Codes:
@ ® © @
(A) @ Gy @ 3G
B) G i) Gv) @)
© ® Gv) @) (1)
D) Gv) (@ G (D)

67. Transformative leadership style is based on
(A) Highly controlled administration
(B) Change based on vision
(C) Good feelings and will
(D) Beliefs on hierarchy

68. When the ‘95 confidence interval for a given
M, pis determined, -95 is

(A) A critical probability
(B) A fiduciary probability
(C) A bi-modal probability
(D) A normal probability

11-11
65. ) S (AT AIFET 7 Al item SHRE

AR AT AR e
(A) AT SOREH
(B) Snif&riael
(C) SngfFwast
(D) FFOE

66. > N SIfeFF (g ©g) *MafeT 2 T wifereig
(2$) e Few@ A e’ Wdiva T 2

©IfeT-5 OIfer-2
(a) fa-Golmie og (i) ST e
(b) T TR (ii) P1. PerEsmE
FIOTZ
(c) 3If@a w=ma (iii) @&, @&, AEHA
(d) O @R @I (iv) (@ fol. formere
3w

(T2
@ by (© (@
(A) i)y (i) @) (@)
B) G G aGv) @)
© ® aGv) (@) (@Gv)
(D) Gv) (1) G (D)

o e

67. ARFTES (Tog <kl FEele @Aba Som
a2
(A) =15 fafae 2=
(B) yifefes »ifaad

(C) 7Z Tgfs ak 3o
(D) ERTER TA7 =gl

68. (I a8 M - @) I -95 gl [l
(confidence interval) N4ifa® =7, 2= -95 7&

(A) TFTE TeRTel
(B) fergPranfa sreraret
(C) IR-ITE TTel
(D) eI TSRTe!
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69. Which article of the Constitution emphasizes
special provisions for S.C. & S.T.?
(A) Article 46
(B) Article 330
(C) Article 332
(D) All of the above

70. If achild’s chronological age is equal to his/her
mental age, then his/her Intelligence Quotient will be

(A) 100
(B) 110
©) 120
(D) 130

71. What is the first step in organising in-service
training programme for teachers?

(A) Selection of resource persons
(B) Selection of Venue
(C) Deciding Modalities of training

(D) Assessing training needs

72. What are the current curriculum development
model?

(A) Product model and process model

(B) Subject centred model and life-oriented
model

(C) Student centred model and community
oriented model

(D) Subjectcentred model and student centred
model

73. Norm-referenced Test differs from a Criterion-
referenced Test will respect to

(A) Types of test items
(B) Content specification
(C) Qualities of goodness
(D) Learning Tasks
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69. TS ¢ CoeifoTema ey IR (@
QIR R A< A w7 2@ 2
(A) 46 =R 4=l
(B) 330 =R 4=
(C) 332 4l

(D) AT AFHR

70. M I e TaRe 1 TP WO AT
(A) 100
(B) 110
(C) 120
(D) 130

71. HRmE T GiR-STede! AR F7b
TR AT ANCFH| ZF

(A) Sifvessl-#<f#T ie
(B) I fey<fioet

(C) f¥freea safe faefa
(D) elfFFeea pifewl i

o e

72. s @i G Aora SaaesET Wowe ?
(A) (2TIE A oo @3 Ao Tees
(B) sl W3e Sl iws Nows
(C) Fwdiis 93 TeMIEES Twe
(D) Rafas 93k Mrwdicsias Soes

73. fafafve @w vfesha sfacafree s
Tifeies SrerF ¢ Heifas ST e A<y Fhste s
A2

(A) ST 2It7d <2
(B) faaczz ez
(C) IR wolafe
(D) Bta I



74. In an interview, opportunities for ‘asking’ and
‘probing’ are respectively

(A) limited and difficult
(B) extensive and not possible
(C) possible and wide-ranging

(D) extensive and possible

75. Which among the following communication
type involves the use of face, gestures, attire, eyes etc.
for the transfer of information?

(A) Visual communication
(B) Formal communication
(C) Non-verbal communication
(D) Verbal communication

76. Theory of evolution for explaining reality is the
contribution of which Indian Educator?

(A) Vivekananda

(B) Rabindranath Tagore
(C) Aurobindo

(D) J. D. Krishnamurty

77. What are the costs considered in a cost-benefit
analysis?

(A) Direct cost and indirect cost only
(B) Intangible cost only

(C) Opportunity cost and cost of potential
risks

(D) All of the above

78. Which of the following is notabasic counselling
skill?

(A) Building trust
(B) Active listening
(C) Test taking

(D) Genuineness
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74, @ CIEIFFIE, fEreaml (asking) €% STl
(probing)-4< I AMCF —
(A) Ffe @R FEFT
(B) Rge @ AkgrSte
(C) Mo® 3 RN
(D) RS @38 ASI#I7

75. = ALIFE &) WIS (I Q@IS 2
¥, AP, eI, o AR IS A ?
(A) PFFT @aNcAIel (Visual communication)
(B) S SIS (Formal communication)
(C) =@ @isiictsl(Non-verbal communication)
(D) CNf4< G@iaNcalsl (Verbal communication)

76. BT [Keaacel Fda ©red GFeq (i ST
IR e IR ?

(A) REse™

(B) A I
(C) wiafa™

(D) (e TG, FRefe

o e

77. T wTe) REARE, 7 600 RS @EhEE
T A 2@ ?

(A) &9 F @R @ T (Direct cost and
indirect cost )

(B) =wsyy 7% (Intangible cost)

(C) Al T (Opportunity cost) ER AT
ﬂwﬁwﬁm (cost of potential risks)

(D) TARE AT I8

78. SN @ G0 (e MR vl w3 2
(A) T Zlow
(B) Af&a ®qel
(C) 1! arzel
(D) il /Rearel
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79. From whichacademic session B.Ed programme
became two years in all over India?

(A) 2014-15
(B) 2015-16
(C) 2016-17
(D) 2017-18

80. Development of curriculum at higher level and
its application at different levels is

(A) Horizontal organisation
(B) Vertical organisation
(C) Centralised

(D) Decentralised

81. Which of the following doctrine of Syadvada is
not relevant?

(A) Seven fold judgement
(B) Relativity of knowledge
(C) Probability theory of knowledge

(D) Absolute Judgement from different
standpoint

82. What is the main emphasis of human capital
theory?

(A) Skill acquisition
(B) Values
(C) Brain gain

(D) Liberal feminism

83. While examining the difference between
correlated sample means, the degrees of freedom are

(A) N—1

B) Ni-1)+(N2-1)
(C) N-2

(D) N1 =D (N2—1)
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79. @ R (2F B.Ed 016 711 Oedw 12
T2 @0 Fheel [y 2@ 2
(A) 2014-15
(B) 2015-16
(C) 2016-17
(D) 2017-18

80. T B “Aly@a Smae «9 [feq g «a 2iel
e @b T ga 4 R e

(A) Sgfe 7sion
(B) Targ Moo
(C) =

(D) Rewdm

81. FIM-9F 90 WHRHIRS @D 2AAF 77 2
(A) 7Y SR o
(B) K Sitsifreel
(C) W TERTOR O
(D) ffew g (= si7w [oE

82. W< AT WG 2Ll (AT F 2
(A) TS TG
(B) I
(C) o1& et
(D) TwEAg TIS_Am

83. AR oS T S10TR Sy el fefza
MR, F&TOid Sl (degrees of freedom) &1

(A) N—1

B) Ni-=1)+(N2-1)
(C) N-2

(D) Ni=1) (N2-1)



84. Which of the following is not a component of
transformational leadership?

(A) Individualised consideration
(B) Intellectual stimulation
(C) Extrinsic motivation

(D) Inspirational motivation

85. Inagivenscoredistributionof 19,21,23,25 and
27, the sum of the square deviations is

(A) 20
B) 0
(C) 40
(D) 16

86. For effective classroom teaching-learning
process, the teacher should give top most priority to the
following:

(A) Testing
(B) Assessment
(C) Evaluation

(D) Measurement

87. Accordingto Vygotsky, cognitive development
depends on

(A) Environmental pressure
(B) Mental maturity

(C) Social interactions

(D) Genetics

88. Assertion (X): Reliability is not a sufficient
condition to determine the validity of any educational
test.

Reason (R): Validity of any test depends upon
its relevance to the purpose of testing.

Select the correct code from the following option:
(A) Both (X) and (R) are correct and (R) is not
the correct explanation of (X).

(B) Both (X) and (R) are correct and (R) is the
correct explanation of (X).

(C) Both (X) and (R) are not correct.

(D) (X) is not correct while (R) is correct.

X-21

11-11
84. fFafS a1 TeETe (Tored ¢F@ @ TomE
a2
(A) Fog REHl
(B) I=feer Sree
(C) =z (el

(D) SR c2ae]

85. #ve (FF KU 19, 21, 23, 25 @3 27-47 57
Tt =e1
(A) 20
(B) 0
(C) 40
(D) 16

86. 436 T Fwa-fRiea fdses, faxfaike
@ R Saifgda e The ?

(A) SO
(B) 3 Tz
(C) Yo
(D) sifzr=i=ie

87. ©i2sbHa s, F@ET K 767 76
(A) ol Bist
(B) PR oAferse
(C) AMIfE= el
(D) 3gHiaife

88. f€3/® (X): @ @I REFes SrorwE eidel
e fwSacare «iFig =S 77|

Y (R): @ @ Torwg el FSa a3
TS Smmead AMBEed Told |

o 31 (AT AT @B Fioa Fea:
(A) (X) 932 (R) Tox 0% @2 (X)-93 &) (R)
Ao 1 7 |

(B) (X) 932 (R) Tox I 92 (X)-a9 As
25 (R) |

(C) (X) €3 (R) Tox 75 77|
(D) (X) 7 77, T (R) T Al |
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89. Counselling is a profession that aims at to
(A) promote personal growth and productivity.

(B) promote a successful diagnosis in
psychopathology.

(C) ensure that clients are on the correct
medication.

(D) solely address behaviour

90. Which of the following is not correct?

(A) Triangulationinvolves two or more sources
of data.

(B) Multiple data collection procedures refer
to triangulation.

(C) Triangulation is a qualitative cross-
validation.

(D) Triangulation includes two or more
research methods.

91. The District Institute of Education and Training
are providing
(A) pre-service teacher education
(B) in-service teacher education

(C) both pre-service and in-service teacher
education

(D) None of the above

92. Which one of the following is not a form of
intelligence, according to Gardner?

(A) Bodily-Kinesthetic Intelligence
(B) Inter-Personal Intelligence

(C) Intra-Personal Intelligence

(D) Visual-Auditory Intelligence

93. Which of the sampling technique is the most
appropriate to select a sample of teenage abusers?

(A) Purposive sampling
(B) Snowball sampling
(C) Theoretical sampling

(D) Convince sampling
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89. AN Z&T GFTo (o1l TN o7 =6 —
(A) fea e g3z Seofmemiere! 7eafEe w1 |
(B) SAICRICo Al arwe} el s1eafee e |

(©) @M@ hFemesgstc — @b aRes
4TI

(D) SIBANSE G WS 41|

90. FEre @A MoF 73 2
(A) GRISEMIE (Triangulation) 12 A1 O @
SR B I 2AITF |
(B) 93Ifds w2 a7 “&® triangulation-GF
T A |
(C) Triangulation 2&1 @991 2{fS-(I4l (cross-

validation) |

(D) Triangulation-9 72 A OF @f oicagell
Ao & A |

91. District Institute of Education and Training

I N o

RS @@ AT FE 2
(A) Gi-sF e sl
(B) GIfpl-vetipiaie e =e!

(C) GifRF-9F 93R SIfI-FaIIe T2 (R
i sl

(D) ToEe @IEoE a7

92. NGRS o, e @0 Ifaa ol 77 2
(A) *ifas-aifoRiet Ifa
(B) wie:-jfe< I
(C) TISF-ITes I
(D) -1y Jfw

93. (ISR FRIA! (teenage abusers )-(1< T
<5 el (i T (sl A g 2

(A) TrwsiryRt S (Purposive sampling)
(B) (FI<e1 w111 (Snowball sampling)

(C) ifeF M= (Theoretical sampling)
(D) @53 w19+l (Convince sampling)



94. Which of the following is not a Learning

Management System?
(A) Edmodo
(B) Canvas
(C) Campus
(D) Canva

95. Ontology is the branch of Philosophy which

deals with the theory of
(A) Values
(B) Creation
(C) Knowledge

(D) Being and their relations

96. Expository approach is a

(A) method that present content in organised

way

(B) method that presentcontentin unstructured

way

(C) method that present content in small parts

(D) method that present contentin experiential

way

97. Online assessment of the learner can not be

carried out through
(A) Quizziz
(B) Jitsi
(C) Hot potatoes
(D) Testomoz

98. A quality research is the outcome of

(A) an analytical mind

(B) a rich source of literature

(C) a collective scholarship

(D) a genius mind

X-23 11-11
94, f5ferie @0 W< s 5em <=l (Learning
Management System) =3 ?

(A) ol (Edmodo)
(B) e (Canvas)
(C) I (Campus)
(D) et (Canva)

95. W{(= *I14l FACel welml A Ontology fFferie
I OG0 SNCEIB I 2
(A) SETEI
(B) 72
(C) e
(D) AG G3R O AAF

96. ITIETF (Expository) Pj@@ﬁ? PGl
(A) RefFoeId REEE oz st |
(B) wrrsifdesird Ra@a Sosied “afe |
(C) =57 Sk Ka TARIHAT &l |
(D) Sifverels fofars @ Sagwie “&fe |

97. RS SwerEs SETRE e @iaba
™A 0 G 3 2
(A) Quizziz
(B) lJitsi
(C) Hot potatoes
(D) Testomoz

98. > welre el NN @FNh Fetree 2
(A) ReseeRs 5=
(B) & Afrerd e
(C) AffeTs Mo
(D) dfsemiE s
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99. Which of the following combination 99, fagferfiae @M MMl REres oagem
characterises reliability of a educational research? frSaIsTe QAR O 40 2

(i) Replicability of a study
(i) Accuracy of data analysis
(iii) Consistency of data collection

(i) SHrEIea afsferfer
(i) w2y s fgerel

(iv) Credibility of results (i) O AT ©
Code. (iv) et et
(A) (i) and (ii) e
(B) (iii) and (iv) (A) (1) 9R (i)

(C) (i) and (iii)
(D) (ii) and (iv)

(B) (iii) 932 (iv)
(©) (i) @< (iii)
(D) (ii) 9% (iv)

100. Dyslexia is associated with 100. Dyslexia F(He @=a M2 TG ¢
(A) Mental Disorder (A) TP et

(B) Behavioural Disorder (B) SIS ﬁﬁw
(C) Reading Disorder

(D) Writing Disorder ((g mﬁw
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